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Optimization Study on the Solution of Value Range of
Quantity Product Problem Based on Polarization Identity
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Abstract

The process of providing reference answers for many problems related to the range of values of the product of plane vectors is very
complex and computationally intensive, which makes it difficult for students to quickly and accurately find the answers In recent years,
some scholars have proposed using polarization identity to simplify the calculation process of quantity product range problems [4].
Inspired by this, the author continues to explore the application scenarios of using polarization identity to simplify complexity and
quickly solve quantity product value range problems This article summarizes six example problems, optimizes conventional solutions,
and identifies two common characteristics of quantity product range problems that can be solved quickly using polarization identity
equations At the end of this article, three practice questions are provided, which readers can try to solve using the polarization identity
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